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TESTS

The speciality:" ECG in general practice "

Which of the following is a common cause of right axis deviation?

A. Right ventricular hypertrophy
B. Ventricular septal defect

C. Left ventricular hypertrophy
D. Atrial septal defect

If ST-elevation was noted in leads II, Il and aVF, what would it suggest?

A.An anterior myocardial infarction
B. A septal myocardial infarction
C. A posterior myocardial infarction

D.An inferior myocardial infarction

A patient is noted to have an abnormally shortened PR-interval on their

ECG. Which of the following is the most likely cause?

A.Atrioventricular nodal fibrosis

B. Wolff-Parkinson-White (WPW) syndrome

C.Right bundle branch block
D.Left bundle branch block
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ТЕSTS

The speciality:" ECG in general practice "
1. Which of the following is a common cause of right axis deviation?

A.  Right ventricular hypertrophy

B.  Ventricular septal defect

C.  Left ventricular hypertrophy

D.  Atrial septal defect

2. If ST-elevation was noted in leads II, III and aVF, what would it suggest?

A. An anterior myocardial infarction

B. A septal myocardial infarction

C. A posterior myocardial infarction

D. An inferior myocardial infarction
3. A patient is noted to have an abnormally shortened PR-interval on their ECG. Which of the following is the most likely cause?

A. Atrioventricular nodal fibrosis

B. Wolff-Parkinson-White (WPW) syndrome

C. Right bundle branch block

D. Left bundle branch block

4. If there were 3 large squares in an R-R interval what would the heart rate be (the paper speed is 25mm/sec)?

A. 80 bpm

B. 100 bpm

C. 90 bpm

D. 70 bpm

5. What would it suggest if lead I became more positive than lead II and lead III became negative?   
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A. Right axis deviation

B. Left axis deviation

6. What view of the heart do leads V3 and V4 represent?

A. Inferior

B. Septal

C. Anterior

D. Lateral

7. An ECG reveals an absence of P-waves and an irregular rhythm. Which of the following is the most likely diagnosis?

A. Ventricular tachycardia

B. 2nd-degree heart block

C. 1st-degree heart block

D. Atrial fibrillation

8. What is the normal duration of a QRS complex?

A. 70 - 110 miliseconds

B. 120 - 160 miliseconds

C. 20 - 40 miliseconds

D. 40 - 70 miliseconds

9. What is the duration of a normal PR-interval?

A. 0.08 - 0.12 seconds (2-3 small squares)

B. 0.12 - 0.2 seconds (3-5 small squares)

C. 0.04 - 0.12 seconds (1-3 small squares)

D. 0.04 - 0.08 seconds (1-2 small squares)

10. What view of the heart do leads I, aVL, V5 and V6 represent?

A. Septal

B. Lateral

C. Inferior

D. Anterior

11. What view of the heart do leads V1 and V2 represent?

A. Lateral

B. Septal

C. Inferior

D. Anterior

12. Which of the following best describes the ECG leads shown below?   
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A. Left axis deviation

B. Right axis deviation

13. What view of the heart do leads II, III and aVF represent?

A. Inferior

B. Anterior

C. Septal

D. Lateral

14. Which artery is most likely to be affected in the context of ST elevation being present in leads V3 and V4?

A. Right coronary artery

B. Left anterior descending coronary artery

C. Left circumflex coronary artery

D. All of the above

15. What is the most common cause of left axis deviation?

A. Defects of the conduction system

B. Left ventricular hypertrophy

C. Right ventricular hypertrophy

D. Atrial septal defects

16. What does ST-elevation suggest?

A. Heart block - Mobitz type II

B. Bundle branch block

C. Myocardial infarction

D. Heart murmur

17. An ECG is performed and reveals a progressively increasing PR interval and dropping of QRS complexes at regular intervals. Which of the following is the most likely diagnosis?

A. Second-degree heart block (Mobitz type 2)

B. Hyperkalaemia

C. First-degree heart block

D. Second-degree heart block (Mobitz type 1)
18. Which QT correction formula should be used for a patient with a heart rate of 120 bpm?

A. Bazett formula

B. Framingham formula

C. Robinson formula

D. Miller formula

19. Which of the following supraventricular rhythms would be irregular?

A. Focal atrial tachycardia

B. Multifocal atrial tachycardia

C. Typical atrial flutter

D. AV nodal reentrant tachycardia

20. What is the following rhythm associated with?
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A. Myocardial infarction

B. Hyperkalaemia

C. Prolonged QT

D. AV block

